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: vectors daaiy|
rgladdl § Bauzme detd ] dguas]! : g3genll g ladd] ool g Laddl
tgladdl e 0 08) Aagall I Jgum 1 (5) r=[7; 8, 9; 10;11] r=[7891011];

daddl udes § sl Gyb

Lels (19 3aid JS o ¥ uolang \ daydy T g lads ads3 R=1:2:10;

Lels (5019 2asd S 0\ I glaan Juolisg ) Aasdy T g las ule3 T=1110;
¢ laidl Jodin olmy) 1=T;
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T : vectors da |
Do Badme (ailase; da i) uded (e LuSes L (§ alss Ly

A9 Lo IS 08 &V (10 095 (Srlass ¢ lads udss A= ones(1,3)

o Lo S 08 SO (10 (95 (g9 ¢ lad udes B=zeros(3,1)

-5, 5 Jlell ass gluio Jiolgdy Buelie dasd V- o (10 086 §lak udss C= linspace(-5,5)

-5,5 Jlzll (rass glude Jiolgay suelite Aard YO (0 (956 ¢ lads ules C= linspace(-5,5, 25)

10P 510% Uzl @ Laiylat ilomsyuny Uginao dagd 0+ (o 055 §lad udgs C=logspace(a,b)
PBadses Allais| ilayjgtng Bodss slasly Lol e Lady 48l gdadl alue) udss 2lss alasiul (S
1251 slay¥ly 0-1 Jlell (ross y4amxa pudlly plazin ayjeddl C=rand(12,1)

112 slay¥lg La s> slae¥ly awds aviell C=randn(1,12)

4% slaaly ¥ 1Y oo Ll (pesds Az sl g latin aojeall C=randi(3,4,1)
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a =50;

b =100;

r = (b-a).*rand(1000,1) + a; )
s O

Lelazio Lanyes Auenll sda § Jlexo¥ anjeall aiay :alasdle

D= round((6-1)*rand (1,10) +1)

-

Uj’,)'“"

X =0:10:360
Y =X*pi/180
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>>s=200*rand (1,24);

MIN = min (s)

MAX = max (s)

SUM = sum(s)

Ave = SUM / length (s)

temp =MIN;
MIN = MAX;
MAX = temp

W =sort (s, 'descend’)

x= linspace (2,6,30);

mag = sgrt(x*x');
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208 e Apluced! Sleleal! Gedas
i | paie dawdly opall lides dowdlly oyt Lides okl t«;ﬂ PPV
r=[7891011]; r=[7891011]; r=[7891011];
t=[2,3,4,5,6]; t=[2,3,4,5,6]; t=[2,3,4,5,6];
S=r*t S=r¥ S=r+t
S1=r/t S1=r/t S1=r-t;
Jsaal 593 JI a6yl
r=[7891011] r=[7891011]
S=r S=rA2
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0(x) = 0.5 —r (at + bt? + ct3) x=randn(5,1)

Cosx? . r=exp (-0.5%(x.A2))/sqrt(2*pi)
r=e V2m t=1./(1+0.3326*x)
phi =0.5 - r.*(a*t + b*(t.A2) +c*(t.A3))

P = 17 03326x

a:0,4,b:-0.12,C:0~93 L’-.‘.-"
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